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A kitchen floor measures 12 feet 8 inches wide by 18 feet 9 inches long.  The floor is being 
covered with tiles that are 8 inch squares.  How many tiles must be bought to cover the floor? 
 
Show your work and explain the steps you used to justify your answer.  Do all work for this 
problem in the box below.  Remember you must show all the steps you used to solve the problem 
even if you have used a calculator.  To receive the highest score, all calculations steps must be 
shown and explained in writing.  Numeric answers must always be labeled. 
 
 
 
Problem Solution: 
 
12'8" x 18'9" = 152" x 225" = 34200 in2 
8" x 8" = 64 in2 
34200 in2 ÷ 64 in2/tile = 534.375 tiles  ∴535 tiles are needed 
 
Other Methods: 
 
152" ÷ 8"/tile = 19 tiles for width of floor 
225" ÷ 8"/tile = 28.125 tiles for length of floor or 29 tiles  
19 tiles/row x 29 rows of tiles = 551 tiles 
 
Some number of tiles between 535 and 551 that explains correctly how the number of tiles was 
determined (i.e. 19 tiles/row x 28 rows + 10 tiles cut in half for 29th row = 542 tiles) 
 
 
 
 
5 Correct solution with all work shown and explained – cannot contain any flaws: 
 12'8" x 18'9" = 152" x 225" = 34200 in2 
 8" x 8" = 64 in2 
 34200 in2 ÷ 64 in2/tile = 534.375 tiles  ∴535 tiles are needed 
 
 Other correct solutions based on decimal approximation: 
 a)  152" ÷ 8"/tile = 19 tiles for width of floor 
      225" ÷ 8"/tile = 28.125 tiles for length of floor or 29 tiles  
      19 tiles/row x 29 rows of tiles = 551 tiles 
 b)  some number of tiles between 535 and 551 that explains correctly how the number of  
                 tiles was determined  
                 (i.e. 19 tiles/row x 28 rows +10 tiles cut in half for 29th row = 542 tiles) 
 
4 Correct solution with all work shown and some explanation 
 May contain minor flaws, i.e. incorrect unit within the problem 
 
3A Correct solution with some work and no explanation 
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3B Incorrect solution due to one calculation or rounding error i.e. or not rounding 
 Note: rounding number of tiles down is a conceptual error (see 2C), not a rounding error 
 
3C Correct solution with some work and some solution 
 
2A Correct solution with minimal work or some explanation 
 
2B Incorrect solution due to multiple calculation errors 
 
2C Incorrect answer due to conceptual error 
  1) 225/8 = 28.125 rounded to 28 
  2) 534.375 rounded to 534 
  3) 34200 in2 ÷ 8 in/tile = 4275 tiles 
 
2D Incorrect answer: stopped with 34200 in2, found the area the tiles need to cover but not  

the number of tiles 
 
1A Correct solution with no work or explanation 
 
1B Determines the number of tiles in perimeter (152/8 + 225/8)(2) = 96 
 
1C Attempts to find the area of the floor and/or divides to get the number of tiles 
  1) (12.8)(18.9)÷8 = 30.24 
  2) (13)(19) = 247÷64 or 247÷8 
 
0 Multiple errors with incorrect solution or incomplete solution 
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5 – Do they need to show work when changing to inches? 

Grade 11 – Question 23  4 



 
5 – 551 tiles 
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5 – 535 tiles 
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 4 – Not enough explanation 
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4 – Little explanation 
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3A – Correct solution.  Some work. 
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3B – Incorrect.  One rounding error. 
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3B – Did not round 
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3B – Incorrect.  One calculation error. 
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3C – Correct with some work and explanation. 
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 2A – Correct solution with minimal work. 
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 2C – Incorrect due to conceptual error. 
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2C – Incorrect due to conceptual error. 

Grade 11 – Question 23  16 



 
2D – Incorrect.  Found area but not tiles. 
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 1A – Correct solution.  No work or explanation. 

Grade 11 – Question 23  18 



1B – Determines tiles in perimeter. 
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1C – Attempts to find area/divides to get number of tiles. 
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